Operaciones con Nimeros Duodecimales (F)

1050B1,

— T748Bj9

961019

+ 9A1Bj,

939519

+ 461712

8AAO

+ A8381,

1399B1»

— B488;9

Calcule cada respuesta.

1676A19

— 796312

AAB2,

+ 74401,

7BB612

+ 893712

B6415

+ 97281,

129A515

— 352519

3A481,

+ 6A761,

329415

+ 330612

9A2A19

+ 107A

89A9,

+ 357619

14B1019

— AA5Bs

652612

+ B37215

16A8B1»

— A43B9

167A49

— 753712

2B4515

+ 4AA9,

B79B1»

— 3B971,
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Operaciones con Nimeros Duodecimales (F) Respuestas

1050B;9

— T748Bj9

504019

961019

+ 9A1Bj,

1742B5

939519

+ 461712

119B0;5

8AAO

+ A8381,

1771815

1399B1»

— B488;9

45135

Calcule cada respuesta.

1676A19

— 796312

AAQT o

AAB2,

+ 74401,

163021,

7BB612

+ 893719

149315

B6415

+ 97281,

191695

129A515

— 352519

B48015

3A481,

+ 6A761,

A9021,

329415

+ 330612

659419

9A2A19

+ 107A

AAA8,

89A9,

+ 357619

103631,

14B1019

— AABB9

607119

652612

+ B37215

1589815

16A8B1»

— A43B9

865012

167A49

— 753712

B2691,

2B4515

+ 4AA9,

TA3219

B79B1»

— 3B971,

78041,
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